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BBEJIEHUE

Pacimpenne  MeXIQyHapOIHBIX  CBA3EHM  JEJAET  WHOCTPAHHBIM  SA3BIK
BOCTPEOOBAaHHBIM B  MPAKTHUYECKOW M UHTEIUICKTYyallbHOM  ACSITENbHOCTU
cnenuanucta. Llens mpodeccrnoHanbHO HANPaBIEHHOTO OOYYEHHS HHOCTPAHHOMY
S3bIKY  OTPEENAeTCs COIMATbHBIM 3aKa30M o00IIecTBa W TOCyAapcTBa IO
OTHOIIEHUIO K S3BIKOBOMY OOpa3oBaHHIO paboOYMX KaapoB C  yYETOM
00pa30BaTeNbHON KOHIENINHN YI€OHOW TUCIUIUINHBI « THOCTpaHHBIN S3bIK.

TunoBas yueOHas mporpamMma 1o yuyeOHou aucuuriinae «MTHOCTpaHHBIN A3BIK
(mpodeccuonanbHas JIGKCHMKA)» (J1ajiee — mporpamMma) MpeaycMaTpyuBacT HM3yYCHHE
npoecCHOHANbHO HAMPABIEHHOTO Kypca ¢ ydeToMm mnpoduis npodeccruoHaIbHON
MOJATOTOBKH CIEIUATUCTa U KOHKPETHOU KBATH(UKAIINH.

[Iporpamma cocTaBieHa C YYETOM CBSI3M €€ Y4eOHOro wmarepuaina ¢
IPOrpaMMHBIM ~ YYEOHBIM MaTEpPHAJIOM  CHEIHUAIBHBIX YYEOHBIX JAUCIMILIAH
npodeccuoHanbHOr0 KOMIoHeHTa. [IpodeccnoHallbHO HampaBiEHHBIA MOAXOJ
OCYUIECTBIISIETCSl MPAKTHUYECKUM IMOKa30M POJIM MHOSI3bIYHBIX 3HAHUM M yMEHHUIl B
Oyny1ieit mpodeccruoHaIbHON AEATEIbHOCTH YYaIIuXcsl.

OCHOBHOI 1ENBI0 HM3yYEHUS Y4eOHOW AUCHMIUIMHBI «JHOCTpaHHBIN S3BIK
(mpodeccuonanbHas JIEKCHKA)» sBisieTca  (GopMupoBaHue MNPodheCCHOHATBHOU
WHOSI3BIYHOW KOMMYHUKATHBHOW KOMITETEHIIMM B COOTBETCTBUH C MPOQHUIEM
MOJATOTOBKH, KOTOpasi MOKET ObITh NPEICTABIIEHA COBOKYITHOCTBIO:

3HAHUM JIEKCMYECKOTO M TPaMMAaTUYECKOro MUHHMYMa, HEOOXOJMMOTO JIJIst
pereHust npodeccuoHaIbHBIX 33J1a4 CPEICTBAMU MHOCTPAHHOTO SI3bIKA;

KOMMYHUKATHUBHBIX yMEHHH B 4YEThIpEX BHAAX PEUYCBOM JIEATEIBHOCTH
(BocIpusiTHE M NOHHMMaHUE pPEYd Ha CIyX, TOBOpPEHHE, YTEHHE, MHCbMO) B cdepe
poeCCHOHAIBHOTO OOIIEHHS;

MOHUMAaHUSl IICHHOCTU WHOCTPAHHOTO S3bIKa KaK CpEJCTBAa TO3HAHUS H
oO1ieHus B poeCCUOHATILHON JIeATEIbHOCTH;

FOTOBHOCTM K camMoO00JaJaHui0 B 00JacTM HHOCTPAHHOTO fA3bIKa B
COOTBETCTBHHU C TPeOOBAHUSIMU NMPOHECCUOHATBHOM ESITENHHOCTH CIIEIUAIUCTA.

JlocTkeHre Lenu B €IMHCTBE €€ 00pa3oBaTeIbHOr0, Pa3BUBAIOIIETO M
BOCIIUTATEIBHOIO ACMEKTOB MPEIOIaraeT pelieHne KOMIUIEKca 3a1a4:

(opMHpOBaHME HABBIKOB UYTEHHSI MHOCTPAHHBIX TEKCTOB MPO(ecCHOHATBHOU
HAIpaBJICHHOCTH, TOHMMAaHUS BBICKA3bIBAHUA B COOTBETCTBUM C CHUTYallHel
po(eCCHOHATLHOTO OOIIEHUSI C YY€TOM HAIMOHAIBHO-KYJIBTYPHBIX OCOOECHHOCTEMH
pEeUeBOro NOBEICHUsI HOCUTENCH sI3bIKa; YIIIyOJIeHHE U COBEPIICHCTBOBAHUE 0a30BbIX
S3BIKOBBIX 3HAHWM, paclidpeHue UuX NPo(ecCHOHaTbHO OPUEHTUPOBAHHOM
COCTAaBJISIOIICH;

pa3BUTHE YMEHHWI WCIIOJB30BaTh pAa3IUYHBIC TMPUEMBI, CpPEICTBA W
BO3MOXKHOCTH JIJII CaMOCTOSITEJIBHOTO WM3YyYCHHUs] WHOCTPAHHBIX S3BIKOB W UX
npuMeHeHus: (ayIuo — WIM BHUAEOMAaTepuaibl, CPEACTBA MAcCOBOM MHGOpMALINH,
KOMITbIOTEPHBIE y4e€OHbIE POTPAMMBI U 1Ip.);

(dbopMHpOBaHUE YBAXKEHHUS K A3BIKY U KYJIbTYpPE HOCHUTEINEH SI3bIKa, MOTUBAIIUU
K TIOBBIIIICHUIO YPOBHS BJIQJCHHWS HWHOCTPAHHBIM S3BIKOM B COOTBETCTBHH C
po¢eCCUOHATILHON JIEeATEIIbHOCTH.



[Iporpammoil ompeneneHbl LEIM IO KaXJOW TeMe U CHPOTHO3UPOBAHBI
pe3yNbTaThl WX JOCTIKEHUS B COOTBETCTBHM C YPOBHSMH YCBOCHHS Y4eOHOTO
Marepuania.

ConeprxarenbHO€e JIEKCUYECKOE HANIOJIHEHUE TEM BTOPOTO pa3zela Uil KaKI0i
CIEUAIBHOCTH (HANpaBJIEHUE CMEIUAILHOCTH), CIEHUAIN3AIMNA MPOU3BOAUTCS HA
OCHOBE BBISIBJICHHSI OCHOBHBIX CHTYaIlUi MPOPECCHOHAIBHO ACATEIBHOCTH (TIPEIMET,
cpenctBa W chepa  mpodecCHOHATBHOW  ACATENBHOCTH);  TPeOOBaHMIA
00pa3oBaTeIbHOTO cTaHjapTa u KBIM(PUKAMOHHBIX XapaKTEPUCTUK
CHeUaIbHOCTH; TpeOOBaHUN K 001IenpodecCuOHaIbHBIM, CIICUATBLHBIM 3HAHUSAM U
YMEHUSIM YYalluXxcsli U HOCUT BapHATHBHBIM XapaKTep, YTO IMO3BOJSET YYUTHIBATDH
npoduiib Oyayiiel crenruanrbHOCTH (HalpaBieHUE CEeHaIbHOCTH), ClICUATU3aINH
U yUpeXKJIeHUs] 00pa3oBaHus

[Iporpammoii ompeneneHbl el U3y4eHUs] K10 TeMbl, CIPOrHO3UPOBAHbI
pEe3yNbTaThl WX JIOCTH)KCHHS B COOTBETCTBHHM C YPOBHSIMH YCBOEHHUSA Y4eOHOTO
Marepuana.

B pesynbrate wusydeHus y4yeOHOM AMCHUIUIMHBL “MHOCTpaHHBIA SA3BIK”
y4aluecs JTOJKHbI

3Hamvb HA YPOBHEe NPeoCmAaBeHUs .

pOJIb U MECTO MHOCTPAHHOTO $3blKa B MPOPECCHOHAILHOM CTAHOBJICHUU U
Pa3BUTHH JINYHOCTH;

CTpaHOBEIUYECKyl0  WH(pOpMaIuioo,  O0OTallalolyl0  COIMAIBHBIA |
poecCUOHANIbHBIN OIBIT;

3Hamv HA YPOBHE NOHUMAHUSL

3HAUYECHUE AKTUBHOTO JIEKCMUYECKOT0 MUHUMYyMa 0 U3Y4YCHHBIM T€MaMm, B TOM
YHCJIe OIEHOYHOM JICKCUKH, PETUTHK-KITUIIE MPOGeCcCHOHATBHOTO PEYEBOT0 ITHKETA;

3HAUCHUE TPAMMATHYECKUX  SBJICHHM, OTMEYEHHBIX B  COJEpPNKAHUU
IPOTPAMMBI;

SI3bIKOBBIC CpEJICTBA M TpaBWjia PEYEBOTO IMOBEACHUS B COOTBETCTBUM CO
cdepoii 00IIEeHHS U COLMATIBHBIM CTaTYyCOM NapTHEPA N0 00YUYEHUIO;

ymems:

YTCHHUE: TTOHUMATh TEKCTHI MPO(ECCHOHATLHON HAINPaBICHHOCTH, HCIIONB3YS
OCHOBHBIE BBl 4YTCHUS (O3HAKOMHTEJIBHOE, H3yyarwllee, IMOUCKOBOE /
MIPOCMOTPOBOE); OIICHWBATh BAXXHOCTh W HOBU3HY W3BJICUEHHONW WHGOPMAIUH H
BbIpaXaTh CBOE OTHOmIeHHME K Hel. OObéM Tekcra, MpeaHa3HAYeHHOTO JJis
o3HakomutenapHoro ureHus, 3000-4000 mewyaTHBIX 3HAKOB C mpoOenamMu. Bujbl
TEKCTOB: CTaThM, TEKCTHl MPO(ECCHOHATHLHON HAMPaBIEHHOCTH, PEKJIAMHBIC
MIPOCTICKThI, TEXHUYECKUE TOKYMEHTHI U JIP.;

rOBOpEHHUE:!

BeCTH Auanor ( JUamor-paccmpoc, AUaiorT-OOMEH, IUaNor-moOyKICHHE K
JEHCTBUIO, STUKETHBIA TUAJIOT U X KOMOWHAIIMK) B CUTYalHsIX MPOGeCcCHOHATBHOTO
oOImeHUsT B paMKaX W3YYCHHOW TeMaThke ( KOJMYECTBO pPEIUIMK KaXJI0TO
cobeceHrKa HE MeHee 7-8 (pa3z);

OeceoBaTh, pacCcKa3blBaTh, PACCYXAaTh B paMKaxX M3YYEHHOW MpOOIeMaTHUKHU
U TEMaTHUKH,

OMKCHIBATh M CPABHUBATH MPEIMETHI, (PaKThI SIBJICHUS;



JienaTh cooOIIeHUs MPOPECCUOHAIBHON HAITPABICHHOCTH;

COCTaBIISITh MOHOJIOTHYECKOE BBICKa3bIBaHWE — OIMHCAHHUE, CpaBHEHHE,
MTOBECTBOBAHUE, PACCYXKACHHUE, OIEHOUYHOE CYyXkaeHUE (00bEM BhIicKasbiBanus 15-20
dpa3, npaBUIHLHO 0(OPMIICHHBIX B SI3IKOBOM OTHOITICHUH);

BOCIPUATHE U TIOHUMAHUE PEeUYH Ha CIyX;

OTHOCHUTENIFHO TIOJHO M TOYHO TIOHHMMAaTh BBICKa3bIBaHUSA COOECeHUKA B
pacnpoCcTpaHEHHBIX CUTYalUAX MPOPECCHOHANTBHOTO OOIICHHS; TOHUMAaTh OCHOBHOE
collepKaHUEe M H3BIEKATh HEOOXOAUMYI0 HH(OpMAIUI0O W3 3ByYalllMX TEKCTOB
npoecCHOHaNbHON HANpPaBJICHHOCTH, cojlepkalux He MeHee 3-4% He3HaKOMBbIX
CJIOB, 3HAYEHHE KOTOPbIX MOXKHO TIOHSATH C TIOMONIbIO TEKCTOBOM WIIU
KOHTEKCTYaJIbHOM TOTaJIKH (IJIMTEIBHOCTD 3By4YaHHUEe TeKCTa 2,5 MUH);

MUCbMEHHAs PeyYb:

COCTaBIIAITh UM OQOPMIIATH NMHUCBMEHHOE COOOIIEHHE B paMKax H3ydaeMou
TEMBI, OOBSIBJICHHE B COOTBETCTBUH C HOPMaMH, MPUHATHIMUA B CTpaHE M3y4aeMoOro
SI3bIKA, JENIaTh BHIMMMCKH U3 TEKCTOB.

B mporpamMe mpHBEAECHBI KPUTEPUH OIEHKH PE3yJbTAaTOB Y4EeOHOM
NEATEIbHOCTH YYallMXcd MO Y4eOHOW JTUCHUIUIMHE, pa3paOOTaHHbIE HAa OCHOBE
NecATUOANIbHOM  IIKajdbl M [OKa3aTeled OUEHKH  pe3yJbTaTOB  y4yeOHOM
JESITEIbHOCTH O0YUaIOIUXCA B YUPEKACHUAX CPEIHETO CIENUATBHOTO 00pa30BaHuUs
( mocraHoBienne MuHucTepcTBa oOpa3oBanust PecnyOnuku benapych oT

29.03.2004).



TPEBOBAHUA K IIPAKTUYECKOMY BJIAZJEHUIO BUTAMU
PEYEBOMU JAEATEJIBHOCTHU

Bocnpuﬂmue U nORUMarue pevu Ha ciyx

Pa3BuTHEe HABBIKOB M YMEHMM CMBICIOBOIO BOCIPHUATHUS YCTHOM MHOSI3BIYHOM
peud B CUTyalusX MHPO(PECCHOHAIBHOIO OOIIEHHS : BBIACIATh OCHOBHYIO
MH(POPMAIIMIO B BOCIIPUHMMAEMOM Ha CIIyX TEKCTE MPO(eCcCHOHATIBHOTO XapaKTepa;
OTHOCUTEJIbHO  TIOJHO  NPUHUMATh  peub  coOecelHWKa B CHUTyalMsX
poheCCUOHAIBHOTO OOIIEHHUSI.

Tosopenue

Jlnanorudeckas peub

OBnazgeHue  TaKTHKOM  TOCTPOEHUs  JuMajgora B  COOTBETCTBUM  C
KOMMYHUKATUBHOM 3a/layeidi, pe4YeBbIMHM HAMEPEHUsIMHU COOECEeHUKA C YYETOM
KOHKPETHBIX  YCJIOBUH NPO(PECCHOHATBHO OpPUEHTUPOBAHHOIO  OOLIEHUS C
COOJIIOJIEHUEM HOPM PEYEBOT0 ITHKETA, IPUHSATHIX B CTPAHE U3YyYaEMOTO S3bIKA.

Pa3Butne ymeHuii yvacTBOBaTh B Oecene, 3ampamivBaTb M OOMEHHMBATHCS
uH(popManuen, BbICKa3blBATh U apTyMEHTHPOBATh CBOIO TOUYKY 3pEHHUs; OpaTh Ha
ceOs WMHULMATUBY B pPAa3roBOPE; BHOCUTH TMOSCHEHHS, JIONOJHEHHUS; BBIPAXKATH
AOMOLMH PA3JIMYHOTO XapaKTePa.

MoHnoJsiornueckast peub

ITocTpoeHrne YCTHOrO MOHOJIOTMYECKOIO BBICKA3BIBAHUS B COOTBETCTBHH C
KOMMYHHMKAaTUBHOW 3aJ1auei.

Pa3zButne yMeHuii ngenath OOINCHHWE, CcoOJepXkKallue HauOoJiee BaKHYIO
uHdopmaruio mo Teme / TmpobiemMe MPOPECCHOHAIBHOTO XapakTepa; KpaTKo
nepenaBaTh COJEp)KaHHE TMOJY4eHHOW uWHpOpManuu; paccyxaaTb o ¢akrax /
COOBITHSIX; I€TIaTh BBIBOJIbI, OLICHUBATh (PAKTHI.

Ymenue

CoBepluIeHCTBOBaHME  BCEX  BHUJOB  UYTEHHS Ha  OCHOBE  TEKCTOB
npo(EeCcCUOHANBHOTO  XapakTepa.  Yyamuecss JOJDKHbI — MOHUMAaTh  TEKCTHI
npoeCCUOHAIBHOTO XapakTepa € pa3HOM TMOJHOTOW, TOYHOCTHIO W TIyOMHOM
IIPOHUKHOBEHUS B UX COJAEPKAHKUE B 3aBUCUMOCTHU OT BU/IA YTEHUS:

O03HAKOMHUTEJIBHOE YTEHHE — MOHMMAaThb OCHOBHOE COAEP’KaHUE HECIOXKHBIX
TEKCTOB MPO(ECCHOHATIBLHOTO XapaKTepa;

U3y4Yarolee 4YTeHUE — IOJHO W TOYHO MOHUMATh COJEpKaHUE HECIOMKHBIX
TEKCTOB MPO(ECCHOHATIBLHOTO XapaKTepa;

MIPOCMOTPOBOE / MOMCKOBOE YTEHHE — M3BJIEKaTh HEOOXOAUMYIO (3HAUYUMYIO)
MH(OPMAIUIO U3 TEKCTOB NPO(EeCCUOHATBHOIO XapakTepa.

[Ipu »TOM yuamuecs OBJAJAEBAIOT YMEHUAMH M3BIEKATh HEOOXOIUMYIO
uH(popmaIuio, nepepadaTeiBaTh €€, padoTasi ¢ TAKUMU TEKCTOBBIMHU MaTepHalaMH,
KaK:



Texctbl npodeccnoHabHONW HAMpPaBICHHOCTH, B TOM YHCJIE PYKOBOJICTBA IO
AKCIUTyaTalli, MOHTaXy, PEMOHTY, TEXHUYECKHE WHCTPYKIHH, TEXHOJIOTHYECKUE
KapThl U T. 11.;

HAJIIKUCH Ha SIPJIbIKaX, STUKETaX, YIIaKOBKaxX U T.]I.

VYuyanuecs oBliaJieBalOT YMEHUSIMU [TIOHUMATh TEKCTOBbIE MATEPUAIIBI:

npuberas (He mpuberas) K UCIOIB30BAHUIO CIICIIHAIIBHOTO CIIOBApS;

WCTIONB3YS WILTIOCTPAIUH, SI3BIKOBYIO JIOTA/IKY;

OpUHUMAs BO BHUMaHUE CXOJICTBO TEPMUHOB B Pa3HBIX S3bIKAX.

CoBepIICHCTBOBAHUE YMEHHUS TOJb30BAThCS S3BIKOBOM M KOHTEKCTYaJbHOM
JIOTQJIKOM TPU UYTEHHWU TEKCTOB MPOGECCHOHANIBHOIO XapaKTepa: MPOTHO3UPOBATh
coJlep>KaHMe TEKCTa IO 3aroJIoBKy, Hayally; HCIIOJIb30BaTh TEKCTOBBIE OIMOPHI —
MO/13ar0JIOBKHU, Ta0JUIIbI, rpaduKu, HIPUPTOBBIC BBIACICHHUS, KOMMEHTAPUH, CHOCKU
U T.II.

llucomennas peus

KoHcTpynpoBaHre MIChbMEHHOTO TEKCTa B COOTBETCTBHH ¢ KOMMYHUKATUBHON
3aavue.

Pa3BuTtne ymeHuii cooOmiaTe CBEIEHHMS O CBOEH opraHuzanuu B ¢opme,
NPUHATOM B CTpaHE WM3ydyaeMOIo $3bIKa; COCTABIATH W OQOPMISATH TEKCTHI
pEKJIaMHBIX ~ OOBSABICHUH, JCJIOBBIX THCEM MPO(PECCHOHATBLHOTO XapakTepa;
3aMoJIHATh TUMIOBBIE (DOPMYIISPHI;

dbukcupoBath  HeoOXOIUMYIO  WH(OpMAIUMIO U3  MPOYUTAHHOTO  /
MPOCIYIIAHHOTO B CUTYAIUAX MPO(HEeCCUOHATBFHOTO HHOSA3BIYHOTO OOIIEHUS.

SI3LIKOBOU MATEPUAIT

Opdorpadus
CoBepuieHCTBOBaHUE  OpporpaMyecKux  HABBIKOB  NPHUMEHHUTEIIBHO K
A3BIKOBOMY MaTe€pHaly TEM IPOrPAMMBI.
doHeTHKa
CoBeplIIEHCTBOBAHUE CIYXO-TIPOU3HOCUTENBHBIX U PUTMUKO-UHTOHAIIMOHHBIX
HAaBBIKOB.
Jlexcuka
Pacmmpenne NnpoayKTHBHOIO M PELENTHBHOIO JEKCHYECKOI0O MUHHMyMa 3a
CUeT JIEKCUYECKUX CPEJCTB, OOCITYKMBAIOIIUX CUTyallUd MPOPEecCHOHATBHOIO
pPEUeBOro ATHKETAa, OTPAXKAIOUIMX OCOOEHHOCTH KYJIbTYpbl CTpPaHbl HM3y4aeMoOro
A3BIKA.
Hakomienne u pacmimMpeHre MOTEHLIHAJIBHOTO CJIOBapsl 3a CUET OBJIAJACHMS
CJIOBOOOPA30BaTEIbHBIMU MOJIETSIMHU, UHTEPHALMOHAIBHOM JIEKCUKOM.
I'pammaTuka
CoBeplIeHCTBOBaHUE TPAMMATHUYECKUX HABBIKOB.
Pacuimpenue akTMBHOTO M PELENTUBHOTO TI'PaMMAaTHYECKOTO MHUHUMyMa 3a
CUET IpaMMaTHYECKUX CPEICTB, OOCIYKHMBAIOLIUX CUTyallUH MPOPECCUOHAIBHOIO
OOIIECHNS.
I'pammaTnueckuii maTepuail:



KAaTeTOpUU 4YHCIIa CYIIECTBUTEIBHOIO;

CTEIICHU CPAaBHEHUs NPUJIaraTeIbHbIX U HAPEUN;

JIarojl; BUAMMO-BPEMEHHbIE (POPMBI TIaroJja; MacCUBHBIN, aKTUBHBIHN 3aJ10T;
HAKJIOHEHUE TJIaroJia;

MOJAJIbHBIE TJIArOJIbl;

IpsIMasi U KOCBEHHAs PEYb;

CJIOBOOOpa3oBaHUE.
TEMATUYECKHUU ITVIAH
Pazpnen, Tema KonuuectBo
y4eOHBIX
4acoB
BBenenue 1
Paznen 1. BBOAHO-KOppEeKTUBHBIN KYPC 3
1.1 Jlekcuko-ponernueckuii u opporpaduyeckuii Mmarepran
Paznen 2. OcHOBHOI Kypc
2.1 KomMnerennouu criemuaancTa 16
2.2 IIpodeccrnonanbHOE caMOONPEICICHUE JIMYHOCTU 2
2.3 ObopynoBaHue, UHCTPYMEHTBI, IPUCTIOCOOJICHUE U
MaTepHuabl (ChIpbE) 10
2.4 IIpon3BOACTBEHHBIE MPOLECCH U TEXHOJIOTUU 5
Obsa3amenvHas KOHMPOIbHAs paboma 1
2.5 PecypcocOeperaroiiye TeXHOJIOTHH. DKOJIOruuecKas
0€30MacHOCTh MPOU3BOJICTBEHHBIX MPOIIECCOB 2
Hroro 40




OBIIIHE METOAUYECKHE PEKOMEH/IAIIHHU 110 U3YYEHHIO
JIUCITHITI/IMHBI U BBIITOJIHEHUIO JIOMAIIIHEH KOHTPOJIbHOH
PABOTHI

OcHoBHOM (opmoii u3yueHus: y4eOHOM aucHUIUIMHBI «HOCTpaHHBIHI
s3bIK  (TIpod.JIeKCHKA)»  SIBISIETCS  CaMOCTOsITeNIbHAsE paboTa ydamuxcs Haj
yueOHMKaMd ¢ Y4E€OHBIMH TOCOOHMSMH. YUEeOHBIM IUIAHOM TMPETyCMOTPEHBI
YCTaHOBOYHOE U O030pHOE 3aHATHE. YCTaHOBOUHOE 3aHATHE MPOBOJIUTCS TeEpea
U3YYE€HUEM JMCLUUILUIMHBI C LIEJIbI0 O3HAKOMIICHUS YYAlllUXCSl C €€ COJAEpKaHUEM U
METOJMKON ee JaibHelnero udydeHus. O030pHbIE 3aHATHS MPOBOJSATCS B MEPUOJ
71a00paTOPHO-3K3aMEHAIIMOHHOM CECCHM TOCJE CaMOCTOSITEIbHOTO  M3YYEHHUs
yYallUMHUCS JMCLUUIUIMHBI, C LEJNbI0 IIOMOYb CHCTEMAaTU3UpPOBAaTh 3HAHUS,
HOJyYEHHBIE B ITPOLIECCE U3YUEHUS, U OTBETUTh HA BO3HUKILKE IIPU 3TOM BOIIPOCHI.

JIOMalIHIO KOHTPOJIBHYIO PabOTy CIEAYET BBIIOIHATH CTPOTO B COOTBETCTBUHU C
YCTaHOBJICHHBIM BAPUAHTOM.

3ajaHusi, BBINOJHEHHBIE HE [0 CBOEMY BapHaHTY, HE 3aCUUTHIBAIOTCA H
BO3BPAILAIOTCS YYaIlleMYyCH.

KoHTposibHas paboTa BBIIOIHSIETCS B COOTBETCTBUU ¢ TpeboBaHusaMHu CtaHmapTa
opraam3anuu CTO BI'TIK 001-2011.

OO01ue TpedOoBaHMs K TEKCTOBBIM JOKYMEHTAM:

TUTYNBHBI JHCT  SIBASIETCS TEPBBIM JINCTOM KOHTPOJBHOH paldoThl U
oopmiisieTcss B COOTBETCTBUU C MPUIIOKEHUEM J| — nisi goMaliHe KOHTPOJIbHOU
paboTel JaHHOrO craHaapra. (B ckoOkax Ha mpuMmepax BBINOJIHEHUS yKa3aH pa3Mep
mpudra).  TecToByr0 4YacTh KOHTPOJBHOW paOOThl BBIMOJIHSAIOT JIOOBIM U3
CIICTYIOIINX CTIIOCOOOB:

- MmammHonucHbIM 1o ['OCT 2.106: TekcT mnedartaercss Ha OJHOW CTOPOHE JIMCTa
yepe3 1 wmuTepBan, mpudt Times New Roman, pasmep 14, BbIpaBHHBaHHE I10
mupuHe, orcTyn 1,25;

- pykonucHbIM yepTexxHbIM mpudTom o I'OCT 2.304. Cnegyer nucatb YETKO.
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Bapuanr 1

1. HpO‘II/ITaTL, nepeBeCT TEKCT NIHCBMEHHO.

A motor vehicle is a complex engineering construction. It is composed of
several thousand parts. The smaller parts are joined together and form larger
components, or units. One of the main components of any vehicle is, of course, the
engine.

In addition to the engine itself, there are four separate mechanisms, which are
used to feed the engine. These mechanisms are the fuel system, the
lubricationsystem, the electrical system and the cooling system.

The fuel system is a separate mechanism that is used for feeding the engine.
The fuel system consists of a tank, a fuel line or a pipe, a pump and a carburettor.
The engine produces power when air and fuel are mixed and burnt.

So let's have a look at the fuel system operation. The fuel is stored in a fuel
tank. The fuel tank is connected to a fuel pipe. The fuel pipe carries the fuel to the
fuel pump. This pump can be cither electric or mechanic in operation. Electric pumps
are generally situated near the fuel tank whereas a mechanical pump is generally
located beside the engine. It is driven by the camshaft. The fuel pump is connected
to the carburettor. In the carburettor the fuel is mixed with air. It is important to have
the right ratio of air to fuel. For example, the optimum ratio of air to petrol in the fuel
mixture is 15 parts of air to | part of petrol. The fuel and the air are drawn into the
combustion chamber, where they are compressed by the piston. In the engine the fuel
and air arc burnt and they produce power.

2. OTBeTHTH HA BONPOCHI.

1. How many mechanisms are there in addition to the engine itself? What are
they? 2. When does an engine produce power? 3. Where is fuel stored? 4. The fuel
pump is connected to the carburettor, isn't it? 5. Does the fuel pump carry the fuel
into the carburettor or into the fuel tank? 6. Where is thefuel mixed with air?

3. JlONIOJIHMTL M NepeBeCTH MPeII0/KEeHUS .

1.There are ... mechanisms which ... for feeding the engine. 2. The ... is a
separate mechanism which is ... to feed the ... . 3. Air and fuel mixed and ... . 4. The
fuel ... in a fuel tank. 5. The fuel pump ... to the carburettor. 6. In the carburettor the
fuel is ... with .... 7. The ... and air are ... into the engine.

4, PackpbITh CKOOKH, HCIIOJIb3YS IJ1ar0J1 B IACCHBHOM 3aJ10T€.
IIpennoxkenust nepeBecTu.
. The telegram (receive) tomorrow.
. | (give) a very interesting book last week.
. He always (laugh at)
. Nick (invite) to the conference last week.
. Flowers (sell) in the shops
. This text (translate) from 5 p.m. till 7 p.m. yesterday.

OOk WN PR
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5. 3anummure 5 — 6 npeasio:xkenunii Ha Temy «Ilouemy s1 BLIOpAJI JaHHYI0
npodeccuro»

Bapuant 2

1. HpO‘II/ITaTL, nepeBeCT TEKCT INCBMEHHO.
The Instrument Panel of a Car

A modern car is a complex means of transport. However, it is relatively easy
to operate as a number of devices help you to keep control. An instrument panel in a
modern car, for example, provides the driver with valuable information. It includes
such instruments as a speedometer, a fuel gauge a tachometer and an ammeter.

The function of the speedometer is to indicate the speed of the car. A

speed limit to be adopted for towns and built-up areas is 30 miles per hour or
60 km per hour.

The purpose of the fuel gauge is to indicate the amount of fuel to be contained
in the petrol tank. If its level in the tank is very low, the warning light switches on in
the car. When this happens it is necessary to put some more petrol into the tank.

The tachometer is necessary to indicate the engine speed in revolutions per
minute. When the engine turns slowly at the minimum speed the alternator also turns
slowly. It doesn't produce enough current for the engine. Therefore, the battery must
supply the necessary current.

A car battery can easily become discharged in quite a short time. The function
of the ammeter is to indicate whether the battery is charging or discharging.

Instrument panels in the cars in the near future will become much more
complicated. The common devices will soon be replaced by onboard computer
systems, as intelligent vehicles are the field to be researched nowadays. The idea is to
create automatic cars on automatic highways. The vehicles to be introduced will
move with the minimum supervision on the part of man since they will communicate
with one another and with the road sensors on the wav. This is necessary in
order to reduce the load on drivers and to ease the stress on the road network. The
leading engineering companies are using advanced mechatronics to achieve this goal.

2. OTBeTUTH HA BONPOCHI.

1. The aim of the instrument panel is to provide the driver with information,
isn't it? 2. Does the instrument panel include such instruments as a multimeter and a
fuel gauge? 3. Is the speed limit for towns and built-up areas 30 mph or more? 4.
What is the function of the fuel gauge? 5. Why does the warning light switch on? 6.
What instrument indicates if the battery is charging or discharging? 7. How will the
instrument panel change in future? What will cause the changes?

3. JlOOTHUTE ¥ epeBecTH MPeAJI0KeHU .

1.An ... panel provides the ... with valuable information. 2. The ... of the ... is to
indicate the amount of the petrol to ... in the petrol tank. 3. An instrument panel in the
car ... a speedometer, a fuel gauge and ... . 4. The tachometer indicates the ... of the
engine in ... per minute. 5. The battery must... the necessary ... . 6. A car... can easily



... discharging. 7. The function of the ... is to indicate whether the ... is ... or
discharging. 8. The idea is ... intelligent ... that will ... the load on drivers and ... the
stress on the ... .

4, PackpbITh CKOOKH, HCIIOJIB3Y IJIAT0J1 B IACCUBHOM 3aJIore.

IIpensoxkenust nepeBecTu.

1.. Our mother already (give) a present.
. The letter (send) before they arrived.
. His new book (finish) by next year.
. Many houses (burn) during the fire.
. Doctors (give) a new pay rise by the government.
. Usually I (pay) my salary twice a month.

OOk wWN

5. 3anummure 5 — 6 npeasio:xkenunii Ha Temy «Ilouemy s1 BBIOpAJI JaHHY IO
npodeccuro»

Bapuanr 3

1. HpO‘II/ITaTb, nmepeBeCcT TEKCT IHCBMEHHO.

As the dictionary says, the thermostat is an apparatus that can be set to keep a
room, machine, etc., at an even temperature as it connects and disconnects the supply
of heat when necessary. In short, the thermostat is used to control the temperature,
How does it work?

As it is known liquids expand when they are heated. This effect is used in the
thermostat in the picture. With an increase in the air temperature the liquid expands in
the heat sensor. This expansion causes the valve to close in order to reduce the flow
of hot water. After a short time, the temperature goes down and consequently the
liquid cools and contracts. The spring load is now greater than the liquid pressure, so
the valve will open. Once again, the hot water flow is increased. This type of the
thermostat is widely spread in various heating systems.

The same principle is used in the wax type thermostat, which is almost
universal in modern vehicles. This thermostat is a temperature-sensitive valve that is
situated just below the top hose. As the coolant temperature rises, the valve is opened
by the expansion of the wax inside it. When the temperature falls, the valve is
automatically returned to the closed position by a coilspring. When thermostats of
this type fail, it is very important to replace them immediately. It is normally more
convenient to fit a new one than to overhaul the old one.

The thermostat is used to prevent the flow of water to the radiator wtien the
coolant temperature is less than about 80 °C. Its functions are as follows:

—  toallow the engine to become warm quickly. Both engine wear and fuel
consumptionare increased if the engine is operating at a low temperature;

—  to prevent the engine from remaining cool under running conditions.

12



2. BeinmucaThb npeaioKeHusi, COOTBETCTBYIOIIME TEKCTY.

1. The thermostat is a device to control the supply of heat. 2. Liquids expand
when they are cooled. 3. Wax does not expand when the temperature rises. 4. The
valve is opened by the expansion of the wax outside it. 5. When the wax type
thermostat fails you should replace it at once. 6. The thermostat prevents the flow of
water to the battery when the coolant temperature is below 80°C 7. The higher the
temperature of engine operation, the more fuel is consumed

3. CocTaBUTB K TEKCTY 5 BOIIPOCOB.

4 PacKpbITh CKOOKH, HCIIOJIB3YS IJ1aroJl B IaCCMBHOM 3aJI0Te.

IMpenyoxenns nepeBecTH.

1.Switch on the radio. The President’s speech (broadcast) now.
. My husband just (offer) an interesting job in this firm.
. For two years Tyler (tell) that his brother was dead.
. The injured man couldn’t walk and had (carry).
. She (ask) to come here tomorrow, too.
. The museum (not open) by last April.
. Brian told me he (rob) in the street

~NOoO Ol W

5. 3anumure S — 6 npeasiokenuii Ha Temy «Iloyemy st BBIOpaJ JaHHYIO
npodgeccuro»

Bapuanurt 4

1. IIpounrars, nepeBecTH TEKCT MUCbMEHHO.

Copper is man's oldest metal as people could extract it more than 10,000 years
ago. As it is rather soft and ductile, copper is alloyed with other elements. There is
evidence that the first copper alloy - bronze (90% copper, 10% tin) - was produced
around 2800 BC in countries such as India, Egypt and Mesopotamia. Bronze was
harder and could be used for making reliable cutting tools. Its use characterizes the
Bronze Age.

The workability and the ability for corrosion resistance made copper,
bronze and brass the most important functional as well as decorative materials from
the Middle Ages and on till the present day. With the beginning of the Electrical Age
the demand for copper increased tremendously because it is an unusually good
conductor of electricity and heat. Today more than 5 million tons of copper are
produced annuallyand the copper metals are playing an increasingly vital part in all
branches of modern technology.

The good news is that we will not run out of copper. The worldwide
resources of this important and valuable metal can be estimated at nearly 5.8 F
trillion pounds of which only about 0.7 trillion (12%) have been mined throughout
history. Besides, nearly all of 700 billion pounds is still in circulation because
copper’s recycling rate is higher than that of any other engineering metal. Each year



nearly as much copper is recovered from recycled material as is obtained from newly
mined ore. Almost half of all recycled copper scrap is old post-consumer scrap, such
as discarded electric cable, junked automobile radiators and air conditioners, or even
ancient Egyptian plumbing! The remainder is new scrap, such as chips and turnings
from screw machine production. Engineers hope that we will be able to use copper
for centuries on.

2. Beinucatb ¥ nepeBecTd MPeENI0KEHH, COOTBETCTBYIOIIME TEKCTY.

1. Copper was extracted by man more than 10,000 years ago. 2. Copper alloys
appeared because there was the shortage of pure copper. 3. Copper metals arc
important functional and decorative materials today. 4. In the 19th century the
demand for copper greatly decreased. 5. The resources of copper will be worked out
in the near future. 6. If Egyptian plumbing is recycled a lot of copper can be obtained.

3. CocTaBUTB K TEKCTY 5 BONPOCOB.

4.  IloguepkHHTe NPABWIbHBbII BAPHMAHT OTBETA.

1. If Rita opens /will open a boutique in the High Street, she’ll make lots of
money.

2. If the economy doesn’t improve, lots of businesses will close / would
close down.

3. This burglar alarm is so sensitive: it goes off if a mouse runs / will run
across the floor.

4, George may go to prison unless he won’t pay / will pay his taxes.

5.  The company was / would be more successful if it spent more money on
advertising.

6.

5. 3anumure S — 6 npeasioxkenuii Ha Temy «Iloyemy st BBIOpaJ JaHHYIO
npodeccuro»

Bapuanr S

1. Ilpoyurarhb, NepeBecTH TEKCT MMCbMEHHO.

The value of alloys was discovered in very ancient times; brass (cop-
per and zinc) and bronze (copper and tin) were especially important. Today the most
important are alloy steels, which have a lot of special characteristics.

Steel is known as an alloy of iron and about 2% or less carbon. Pure iron is
soft, ductile and malleable, useful only as an ornamental material. However, the
addition of carbon hardens it greatly and changes its properties. Steels for special
applications may contain other alloying elements beside carbon. This modifies and
improves the physical properties of the base steel. For example, small percentages of
nickel, chromium, manganese and vanadium may be used for strengthening steels for
construction work. Heat treatment (i.e. tempering) and mechanical working at cold
or hot temperatures may also give steel alloys superior qualities, such as strength,

14



hardness, toughness, wear resistance, corrosion resistance, electrical resistivity and
workability.

Steel making processes arc known as melting, purifying (refining) and
alloying at about 2,900 F (1,600 °C). Molten steel may be first cast into
ingots. Later ingots are worked into finished products. This may be done by two
major methods: hot-working and cold-working. The latter is generally used for
making bars, wire, tubes, sheets, and strips. Molten steel may also be cast directly
into products.

2.Bbi0paTh npaBuJibHbIA BapuaHT oTBeTa. [lepeBecTn.

1. Steel is a general name for

a) non-metals; b) ferrum; c¢) iron-and-carbon alloys.

2. Physical properties of iron may be modified greatly by the addition of
a) iron ore; b) hydrogen; c) carbon

3. Pure iron is used

a) as an ornamental material; b) for construction work; c¢) in machine tools.

4. Steel for special applications usually contains

a) carbon; Db) various alloying elements; ¢) vanadium

5. Heat treatment and mechanical working at cold or hot temperatures result in
... of steel.

a) a different carbon content; b) better qualities; c¢) finished products

6. Melting, purifying and alloying are the stages of steel

a) cold-working; b) refining;  c¢) making

7. Bars, wire, tubes, sheets, and strips are the result of

a) melting steel; b) hot-working; ¢) cold-working

3.CocTaBUTB K TEKCTY 5 BONPOCOB.

4. ITogyepKHHMTE NPABWJIbLHBI BAPHAHT OTBETA.

1.1f the employees of a company are/were happy, they work harder.

2.We might sell our business if it makes / would make another loss this year.

3.1t looks like Molly’ll be okay, unless something new will happen / happens.

4.Unless Shelly had read him wrong, Jack would find /would have found her
unorthodox approach irresistible.

5.Mat would not trust/ didn’t trust that unless he had to.

5. 3anumure 5 — 6 npeasioxkenuii Ha Temy «Ilouemy s BLIOpaJI JAHHYIO
npodgeccuro»



Bapuanr 6

1. HpO‘II/ITaTL, nepeBeCT TEKCT NIHCBMEHHO.
Classes of Steel

Steels vary greatly but the major classes are carbon steels, low-alloy steels (up
to 8% alloying elements, i.e. tool steels), and high- alloy steels (more than 8%
alloying elements, i.e. stainless steels).

In carbon steels, the carbon content may range from 0.015% to 2%. The steel
that was used for the Golden Gate Bridge, for instance, is carbon steel with the
following average chemical composition: C: 0.81% (0.85), Mn: 0.66%, P: 0.026%
(0.04), S: 0.028% (0.04), Si: 0.24%. The addition of this tiny amount of carbon made
the steel much stronger and harder. Carbon steels account for about 90% of the
world's steel production. They may be used for automobile bodies, appliances,
machinery, ships, containers, and the structures of buildings.

Tool steels are special steels that are engineered to particular service
requirements. These expensive alloys are exceptionally strong, hard, wear-resistant,
tough, nonreactive to local overheating. They contain tungsten, molybdenum,
vanadium, and chromium in different combinations, and often cobalt or nickel for
better high-temperature performance. They are used for machine tools, aircraft
undercarriages, in buildings and bridges.

Stainless steels comprise any alloy steel that contains 10-30% chromium. The
presence of chromium, together with the low-carbon content, gives a remarkable
resistance to corrosion and heat. Other elements, such as nickel, molybdenum,
titanium, aluminum, niobium, copper, nitrogen, sulphur, phosphorus. and selenium,
may be added for obtaining better corrosion resistance and other valuable properties.

2. Beinucars npeaioskeHus, COOTBeTcTBYOIUE TeKeTy. Ilpennoxenus
nepeBecTH.

1.There are many kinds of steel. 2. Three major classes are carbide
steels, low-alloy steels, and high-alloy steels. 3. Carbon steel was used in building the
Golden Gate Bridge. 4. Great strength, hardness and other valuable mechanical
properties are obtained by the addition of a great amount of carbon. 5. Low-alloy
steels are the most popular kind of steel. 6. Tool steel is used for producing
automobile bodies, ships and spoons. 7. Tool steel is not cost-efficient. 8. Tungsten,
molybdenum, vanadium, and chromium in different combinations may improve high-
temperature performance of stainless steel. 9. A remarkable resistance of stainless
steel to corrosion and heat is achieved with the help of chromium and high-carbon
content.

3. CocTaBHUTB K TEKCTY S BONPOCOB.

4. . PackpoiiTe cCKOOKH, YOTPeOJIfAs IJ1aroJbl B Tpedyomeiica popme
YCJI0OBHOI'0 HAKJIOHECHU.

1. If Felix (to be) here | would have seen him.

2. Michael would not agree even if you (to ask) him.
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3. If they (mention) this yesterday, everything would have
been done.

4, If I (to find) that letter, I’ll show it to you.

5. If I meet him, | (to invite) him.

5. 3anumure 5 — 6 npeasoxkennii Ha Temy «I[louemy s BLIOpaJ JaHHYIO
npodeccuio?»

Bapuant 7

1. IIpounrarthb, nepeBecTH TEKCT MUCHMEHHO.

Materials engineering is the study of materials - anything from tennis racket
frames to turbine blades in aeroengines. The subject combines sciences with
engineering and looks at the structure of materials, their properties and fabrication.

Materials science has a dramatic impact on sporting records. Since 1896 the
Olympic record in the pole vault, for example, hasincreased from 3 to about 6 metres
largely due to the changes in material technology. The first poles were made from
solid hickory wood. In 1904 bamboo poles were introduced, which only 50 years
later were replaced byaluminium poles. The latter, however, gave little improvement
in performance and had to be replaced by lighter and less stiff glass-fibre
composites. These account for the dramatic increase in performance.

The materials and design of hockey sticks have also changed a lot. Hockey
sticks used to be madel from wood, and they failed quickly. Modern hockey sticks
arc made from carbon-fibre and glass-fibre composites, which increase stiffness. As
the failure can be dangerous, researchers still have to improve the performance of
composite sticks.

Early tennis rackets were made from solid wood (ash or maple). Because of its
cellular structure, wood is anisotropic, i.e. its properties are not the same in each
direction. This limited the size and stiffness of the rackets. The anisotropy was
overcome by the introduction of wood laminates, but there was still the problem of
water absorption, which caused the deformation of the racket. In the 1970s
aluminium alloy frames were introduced. The greater stiffness of the aluminium
meant that frames could be lighter. However, these were soon replaced by even stiffer
and lighter carbon-fibre rackets. The research continues and materials engineers have
not said their last word yet.

2. BoiOpaTh npaBWIbLHbI BAPUAHT OTBETA.

1. Since 1896 the Olympic record in the pole vault...

a)  has decreased from 6 to 3 metres.

b)  hasincreased from 3 to 7 metres.

c)  hasincreased from 3 to 6 metres.

2. The poles used in 1896 were made from ...

a) bamboo b) hickory wood c) glass-fibre composites.
3. The performance in pole vaulting has increased greatly because ...



a)  composite poles were made from aluminium.

b)  composite poles were lighter and less stiff.

c)  composite poles were made longer.

4, First hockey sticks were made from ...

a) wood

b)  carbon-fibre composites

c)  carbon-fibre and glass-fibre composites.

5. Anisotropy is ... of solid wood rackets.

a) an advantage b) a dlsadvantage C) an improvement

6. In order to improve tennis rackets ... was introduced in the 1970s,
a) carbon-fibre composites b) aluminium c) solid wood

3.I[OHOJ'IHHTI> TEKCT IPUBCACHHBIMMA CHU3Y CJIOBaAMH.

The materials technology has ... a lot over the past years. New more reliable
materials have ... the old ones. Other advances in materials science may lead to
farther... in performance. Let's have a look at some examples of sport... .

Poles are often ... from glass-fibre ... that increase their.... Such poles arelighter
and less ... than ... poles.

.. and glass-fibre composites are also used for ... hockey sticks. This helps to ...
stiffness. ..., such hockey sticks can be ... for players. That is whyresearchers are
trying to ... their performance.

Carbon-fibre composites have also replaced aluminium in tennis ... . Such
composite rackets have a higher .. than aluminium .. |, so
rackets can be even stiffer and ... .

changed performance made  improvements improve
equipment carbon-fibre replaced aluminium alloys

composites producing  increase dangerous stiff
stiffness lighter rackets however

4.CoCTaBUTh K TEKCTY 5 BONPOCOB.

5. 3anumure 5 — 6 npeasio:xkenuii Ha Temy «Ilouemy st BLIOpaJ JAHHYIO
npodgeccuro»

Bapuanr 8

1. IIpouyurath, NEepeBeCTH TEKCT MUCHMEHHO.
Plastics
Whether you are aware of it or not, plastics play an important part in your life
From the car you drive to work to the television you watch when you get home,
plastics help make your life easier and better. How?
Plastics are polymers - long chains of many units that are usually made of
carbon, hydrogen, oxygen, and/or silicon. Polymers have been with us since the
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beginning of time — tar, amber and horns are the easiest examples. In the 1800s these
natural polymers were chemically modified and many materials such as vulcanized
rubber and celluloid were produced. The first truly synthetic polymer Bakelite was
developed in 1909 and was soon followed by the first synthetic fibre, rayon, in 1911.

Polymers come in a great variety of characteristics and colours. This fact
alone must be considered as an advantage of these materials. They are cheaper and
easier to make than, say, paper. Besides, polymers possess the properties of easy
processing, durability, light weight, sufficient strength, thermal and electrical
insulation and resistance tochemicals, corrosion and shockThese valuable qualities
of polymers can be further enhanced by a wide rangeof additives, which broaden
their uses and applications.

Unfortunately, we have to admit that plastics pollute the environment. Luckily,
most polymers are thermoplastic (e.g. nylon, polythene), i.e. they canbe heated and
reformed again. The recycled plastics keep all their properties when they are
combined with virgin plasticsl. The other group of polymers, thermosets (e.g.
bakelite, phenolic resin), must not be recycled, as reheating causes their
deformation. However, the controlled incineration of thermosets converts waste into
heat energy.

The usefulness of plastics can only be measured by our imagination.
These are definitely the materials of past, present, and future generations.

lHJ’IaCTMaCCI)I, KOTOPBIC paHCC HC Hepepa6aTBIBaHI/ICI>

2. Beinucath npeasioxkeHus, cOoTBeTcTBYIONME TeKeTy. IlepeBecTn.

1. Plastics influence our life greatly. 2. Conventional polymer constituents
include carbon, nitrogen, oxygen, and/or silicon. 3. Tar, amber and horns are the
easiest examples of synthetic polymers. 4. Plastics both conserve and produce energy.
5. Polymers do not conduct electricity and heat. 6. All polymers are divided into two
distinct groups: thermoplastics and thermostatics. 7. Unwanted thermoplastics should
be recycled. 8. Bakelite and phenolic resin produce heat energy when they are
incinerated.

3. CocTaBHUTB K TEKCTY S BOIPOCOB.

4. PackpoiiTe CKOOKH, ymoTpeOJisisi 1J1aroJibl B Tpedyromieiicsa popme
YCJIOBHOT0 HAKJIOHEHHUS.

1.  Would they come if we (to invite) them?

2. The boss (be) very disappointed if you aren’t at the meeting
tomorrow.

3. The teacher said, “I’ll begin the lesson as soon as Jack
(stop) talking.”

4, The old gentleman doesn’t go out in winter. He (go) out
if the weather gets warmer.

S. She’s flying to Cairo tomorrow. She’ll send her family a telegram

providing she (arrive) with a delay.




5. 3anummure 5 — 6 npeasio:xkenunii Ha Temy «Ilouemy s1 BLIOpAJI JaHHYI0
npodgeccuro?»

Bapuant 9

1. HpO‘IHTaTL, NEPEBECTU TEKCT INCHbMEHHO.

Welding is one of the most important operations that are used in industry.
Many parts of machines, automobiles, airplanes, ships, bridges and buildings are
welded.

In order to join two metal pieces it is necessary to soften them with heat and
then to press, hammer or fuse them together. The most widely used method of
welding is electric arc welding where the workpieces are joined by means of
electricity at the temperature of about 7,232 CF. This is the hottest heat that can be
obtained for engineering purposes.

In electric arc welding two workpieces are welded by an electric arc. In order
to create the arc a powerful electric current should be provided. The current must be
at least 60A and for thicker workpieces it may be 250A or more.

To supply the current it is necessary to use a transformer. The latter must be
switched on to strike the arc. To join the workpieces the electrode holder should
contain an electrode rod. When the arc is struck the electrode must brush against the
workpiece at 80e to its surface. As the current flows between the electrode and the
workpiece the tip of the electrode melts and falls onto the workpiece. Thus a joint is
created.

It is essential to hold the electrode approximately 4 mm from the surface of the
workpiece. One should not leave the electrode too long in the same position because
it will become attachedto the workpiece. The electrode must be moved across the
joint continuously backwards in a straight line. However, if it is moved too quickly
neither the electrode nor the workpiece will melt.

And it is important to remember that to weld plates by an electric arc is quite
dangerous. In order to protect yourself you should always follow certain safety rules.
For example, it is absolutely necessary to wear overalls with long sleeves, gloves, an
apron, a cap, and rubber boots. A mask or helmet is used to protect the face and
especially eyes from sparks.

2. OTBeTUTH HA BONPOCHI K TEKCTY.

1. What is welding? What processes does it involve? 2. What method of
welding is the most widely used today? 3. What device is used to supply the current?
4. How is a joint created? 5. How far should the electrode be held from the
workpiece? 6. Why is it dangerous to leave the electrode in the same position? 7. In
what way is it necessary to move the electrode across the joint? 8. What safety rules
should you follow in the process of welding?
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3. I[OHO.]IHI/ITB NPpEAJI0KECHUS MOAXOAAIIIUMMHA 110 CMBICJTY CJIOBAMM.
IlepeBecrTn.

1.... two workpieces an electric ... is used. 2. It is necessary ... a powerful
electric... for arc welding. 3.... the workpieces the electrode holder must contain an
electrode .... 4. The electrode should be ... some millimeters from the ... of the
workpiece. 5.... a strong joint the workpieces must be of the same ... . 6. The
electrode can become ... the workpiece. 7. The electrode must be ... across the ...
continuously.

4, CocTaBuThb K TEKCTY 5 BONIPOCOB.

5. 3anummure 5 — 6 npeasio:xkenunii Ha Temy «Ilouemy s1 BLIOpAJI JaHHYI0
npogeccuro?»

Bapuant 10

1. HpO‘II/ITaTL, nepeBeCcT TEKCT INCBMEHHO.
Laser Beam Welding

The unique properties of lasers account for their widespread application in
manufacturing industry. Laser beam welding is currently used in order to weld steels,
aluminum alloys and dissimilar materials. This high power density welding process
has unique advantages of cost effectiveness, deep penetration and narrow bead in
comparison with conventional welding processes. As the thermal cycles of laser
beam welding are generally much faster than those of arc welding it is possible to
form a rather small weld zone that exhibits locally high hardness.

However, it is important to point out that the metallurgical and mechanical
properties of laser welds and the response of conventional materials to this new
process have not been fully established yet. It is currently difficult to determine the
tensile properties of the laser welded joint area owing to the small size (2—3 mm) of
the fusion zone. Therefore an experimental investigation of the mechanical properties
of laser-welded joints was carried out. To determine the hardness profile of the
welded metal three similar joints were produced by a C02 laser and microhardness
measurements were conducted at three locations. It is important to mention that the
microhardness test results, however, exhibited no significant difference between these
three locations for all the welded joints.

The welding process may lead to drastic changes in the microstructure with
accompanying effects on the mechanical properties and, hence, on the performance of
the joint. Laser welded joints, like all other welded joints, may contain defects in the
form of cracks in the narrow weld area. The size and location of such cracks directly
affect the joint performance and the life time of a structure. Nevertheless, it is
essential to remember that laser beam welding has a number of advantages over
conventional processes. Despite the high investment cost of laser welding equipment,
it is expected that laser beam welding will have a great impact on fabrication and
manufacturing industries within the next decade.



2. Boinmucarh COOTBETCTBYIOIIME TEKCTY npeasio:kenus. Ilepesecru.

1. Laser beam welding is widely used at present. 2. Arc welding is less
advantageous than laser beam welding. 3. Laser beam welding is very hard. 4. The
research on laser welding has been carried out recently. 5. It is currently difficult to
establish the properties of the laser welded joint area because the workpiece is very
thin. 6. Laser beam welding may lead to dramatic changes in the micro structure and
the performance of the joint. 7. Laser welded joints may contain defects in the form
of crackers. 8. Laser beam welding is rather expensive, that is why it will not be
widely used in industry in the near future.

3.CocTaBUTh K TEKCTY 5 BONPOCOB.

4. PackpoiiTe CKOOKH, yOTpeO.isisi 1J1arojibl B Tpedylomieiicsa popme
YCJIOBHOT0 HAKJIOHEHHUS.

1. If the plane had left on time, they (be) in Minsk now.

2. If they hadn’t walked 40 km, they (not / be) exhausted
now.

3. What would have become of us, if | (come) to you then!'

4, He would have been scrupulous — if he (can) !

5. What is the answer if you (add) 17 to 75?

6.

5. 3anumure 5 — 6 npeasio:xkenuii Ha Temy «Ilouemy st BLIOpaJI JAHHYIO
npogeccuro?»

Bapuant 11

1. IIpounrars, nepeBecTH TEKCT MUCHbMEHHO.

It is not a secret that energy consumption has increased immensely in the last
decades. But do we have enough fossil fuels to satisfy our needs? As fossil fuels arc
nonrenewable we are highly interested in developing alternative sources of energy.

Solar Power is renewable. It is used for heating houses. Solar cells and
furnaces make electricity from sunlight. Solar cells are expensive. Solar power isn't
much use unless you live somewhere sunny. It doesn't cause pollution and doesn't
need fuel.

Wind Power is renewable as well. It doesn't cause pollution, doesn't need fuel.
However, a lot of generators are needed to get a sensible amount of power. It is
necessary to put them where winds are reliable. And the noise can drive you nuts.

Hydroelectric Power plants are built for getting energy from flowing water.
Usually we build a dam, and let the water turn turbines and generators as itgoes
through pipes in the dam. Renewable. No pollution, no fuel needed no waste. Very
expensive to, build. Building a dam we flood a lot of land.

Waves Power. There's a lot of energy in waves on the sea. However it is
noteasy to get it. A wave power station needs to be able to stand really rough
weather, and yet still be able to generate power from small waves. This source of
energy is renewable — the waves will come whether we use them or not.
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Geothermal Energy means heat from underground hot rocks. Hot water
comes up and we use the heat to make steam to drive turbines, or to heat houses. It is
renewable - so long as we don't take out too much, the energy | keeps on corning.
However, there are not many places you can do it - the rocks must be suitable.
Sometimes we get poisonous gases coming up too.

"Biomass" means burning wood, dung, sugar cane or similar. It is renewable —
we can always plant more trees. We burn the fuel to heat water into steam, which
drives turbines, which drive generators. Burning anything we pollute the
environment.

Nuclear (atomic) power stations use uranium as fuel. It is nonrenewable. Heat
from the reactor turns water into steam, which drives turbines, which | drive
generators. It doesn't cause pollution unless something goes wrong.

2.0TBeTHTH HA BONPOCHI.

1. Why do we have to develop alternative sources of energy? 2. What is
solar energy used for? 3. What are the disadvantages of wind power? 4. What
requirements should hydroelectric power stations meet? 5. Why can the use of
geothermal energy be dangerous? 6. Are nuclear power plants considered safe?

3. O0pa3yiiTe yc/j10BHbIE NPEAJT0KEHUsI, YIOTPEOUB HYKHYI0 (popmy
rJaroJa.

1. Molly (be) a splendid woman, if only she didn't talk so much!

2. The evening will be fine, if only we (not have) a storm.

3. You might be of interest to me, if only | (have) time to waste
on you.

4. If you (leave) at two, you will be there before dark.

5. When he isdrowning, a man (clutch) at any straw.

4. PackpbITh CKOOKH, MCIIOJIB3Y4 IJ1aroJl B IACCHBHOM 3aJI0re.
IIpeayio:kenus mepeBecTH.
1. The telegram (receive) tomorrow.
. | (give) a very interesting book last week.
3. He always (laugh at)
4 . Nick (invite) to the conference last week.

N

5 . Flowers (sell) in the shops.
6 . This text (translate) from 5 p.m. till 7 p.m. yesterday.
Bapuant 12
1. IIpouyurarh, NepeBeCcTH TEKCT MUCHEMEHHO.

Contact welding concerns to kinds of welding with short-term heating a
junction without flashing off or with flashing off and settlement warmed-over
preparations. Prominent feature of these processes - plastic deformation during which
welded connection is formed.



The junction is warmed up by an electric current taking place on metal, and the
maximum quantity of heat is allocated in a place of welding contact. On a surface of
welded metal are available a film oxide and pollution with small electro-conductivity
which also increase electro-resistance of contact.

In result in points of contact metal is heated up to a thermoplastic condition or
up to flashing off. At continuous squeezing the heated up preparations new things in
common are formed, there will be no yet a full rapprochement up to internuclear
distances, welding of surfaces.

Contact welding classify as the welded connection determining a kind of the
welding machine, and on a sort of the current having the welding transformer. As
welded connection distinguish butt welding, dot, seam.

2.CoCTaBUTH K TEKCTY 5 BONPOCOB.

3.PackpbITh CKOOKH, HCIIOJIL3YSl IJIaroJl B MAaCCMBHOM 3aJ10Te.
1 . Our mother already (give) a present.

. The letter (send) before they arrived.

. His new book (finish) by next year.

. Many houses (burn) during the fire.

. Doctors (give) a new pay rise by the government.

. Usually I (pay) my salary twice a month.

OOk WD

4. TlomyepkHuTe mNpaBWIbHBLIA BapuaHt otBera. Ilpensoxenus
nepeBecTu.

1. If the employees of a company are/were happy, they work harder.

2. We might sell our business if it makes / would make another loss this
year.

3. It looks like Molly’ll be okay, unless something new will happen /
happens.

4, Unless Shelly had read him wrong, Jack would find /would have found
her unorthodox approach irresistible.

5. Mat would not trust/ didn’t trust that unless he had to.

5. 3anumure 5 — 6 npensio:kenuii Ha Temy «Ilouemy st BbIOpaJ JaHHYIO
npodeccuro?»

Bapuanr 13

1. IIpoyuraTth NepeBecTH TEKCT MUCHEMEHHO.

Metalworking is the process of working with metals to create individual parts,
assemblies, or large scale structures. The term covers a wide range of work from
large ships, bridges and oil refineries to delicate jewellery. It therefore includes a
correspondingly wide range of skills and the use of many different types of
metalworking processes and their related tools.
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Butt welding - a version of contact welding, at which preparation are welded
on all surface of contact. Welded preparations fix in clips butt machines. The clip 1 is
established on the mobile plate, moving in directing, a clip 2 solidified on a
motionless plate. The welding transformer is connected to plates flexible trunks and
eats from a network through including device.

Plates move, and preparations are compressed under action of the effort
developed by the mechanism deposits. Butt welding with heating-up a joint up to a
plastic condition and the subsequent upsetting name - flashing off welding. Flashing
off welding has advantages before welding by resistance.

In process flashing off all roughnesses of a joint are leveled, and oxide and
pollution leave, special preparations of a junction therefore are not required. It is
possible to weld preparations with section, diverse metals. The most widespread
products, made butt welding, elements of tubular designs, wheels and rings, the tool,
rails, ferro-concrete armature serve.

2.CoCcTaBUTh K TEKCTY 5 BONIPOCOB.

3.PackpoiiTe cko0KH, ynoTpedJsia rJarojbl B Tpeodymwoileiicsa ¢opme
YCJIOBHOI'0 HAKJIOHEHHSI.

1. If Felix (to be) here | would have seen him.

2. Michael would not agree even if you (to ask) him.

3. If they (mention) this yesterday, everything would have
been done.

4, If I (to find) that letter, I’ll show it to you.

5. If I meet him, | (to invite) him.

4 PackpbITh CKOOKH, MCHOJB3Yyd TLJaroJd B [AaCCMBHOM  3aJiore.
IIpeayio:kenus mepeBecTH.

1 . Our mother already (give) a present.

2 . The letter (send) before they arrived.

3. His new book (finish) by next year.

4 . Many houses (burn) during the fire.
. Doctors (give) a new pay rise by the government.
. Usually I (pay) my salary twice a month.

o O1

5. 3anumure 5 — 6 npeasioxkenuii Ha Temy «I[louemy s BLIOpaJ JIaHHYIO
npodeccuio?»

Bapuanrl4d

1. IIpouyurarh, NepeBeCcTH TEKCT MUCHEMEHHO.

Spot welding - a version of contact welding, at which preparation incorporate
in separate points. At spot welding preparation collect lapped and clamp between the
electrodes bringing a current to a place of welding. Surfaces of welded preparations
adjoining with copper electrodes are heated up more slowly their internal layers.



Heating proceeds up to a plastic condition of external layers and before fusion
of internal layers. Then switch off a current and remove pressure. In result the cast
welded point is formed. Spot welding depending on an arrangement of electrodes in
relation to welded preparations can be bilateral and unilateral. Multidot contact
welding - a version of contact welding when for one cycle some points are welded.
Spot welding carry out by a principle of unilateral spot welding.

Multidot machines can have from one pair up to 100 pairs electrodes,
accordingly weld 2-200 points simultaneously. Spot welding weld simultaneously
and consistently. In the first case all electrodes at once press to a product that
provides smaller warpage and the big accuracy of assembly. The current is distributed
between pressing electrodes special sequence switch, including electrodes in pairs.

In the second case of pair electrodes lower serially or simultaneously, and a
current connect serially to each pair electrodes from the welding transformer. Spot
welding apply basically in mass production where the big number of welded points
on preparation is required.

2. CocTaBUTBb K TEKCTY 5 BOIIPOCOB.

3. PaCKpoﬁTe CKOﬁKI/l, HCIMOJIB3YA IJ1aroJ1 B IIaCCUBHOM 3aJ10T€.
IIpeaJio:xkenus nmepeBecTH.

1.Switch on the radio. The President’s speech (broadcast) now.

2.My husband just (offer) an interesting job in this firm.

3.For two years Tyler (tell) that his brother was dead.

4.The injured man couldn’t walk and had (carry).

5.She (ask) to come here tomorrow, too.

6.The museum (not open) by last April.

7.Brian told me he (rob) in the street.

4, Oo0pa3syiiTe ycJIOBHbIE NPEAT0KEHUSA, YIIOTPEOMB HYKHYIO (hopmMy
rjaaroJa.

1. Molly (be) a splendid woman, if only she didn't talk so much!

2. The evening will be fine, if only we (not have) a storm.

3. You might be of interest to me, if only | (have) time to waste
on you.

4, If you (leave) at two, you will be there before dark.

5. When he isdrowning, a man (clutch) at any straw.

6.

5. 3anumure 5 — 6 npeasioxkennii Ha Ttemy «Ilouemy s BbIOpaJI JaHHYIO
npodeccuio?»

BapuanTt 15
1. IIpouyuTaTh, NepeBecTH TEKCT MMCbMEHHO.

Metalworking is the process of working with metals to create individual parts,
assemblies, or large scale structures. The term covers a wide range of work from
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large ships, bridges and oil refineries to delicate jewellery. It therefore includes a
correspondingly wide range of skills and the use of many different types of
metalworking processes and their related tools.

Metalworking is an art, hobby, industry and trade. It relates to metallurgy, a
science, jewellery making, an art-and-craft, and as a trade and industry with ancient
roots spanning all cultures and civilizations. Metalworking had its beginnings
millennia in the past. At some point in history, modern man's ancesters discovered
that certain rocks now called ores could be smelted, producing metal.

Further, they discovered that the metal product was malleable and ductile and
thus able to be formed into various tools, adornments and put to other practical uses.
Humans over the millennia learned to work raw metals into objects of art, adornment,
practicality, trade, and engineering.

Metalworking predates history. No one knows with any certainty where or
when metalworking began. The earliest technologies were impermanent to say the
least and were unlikely to leave any evidence for long. The advance that brought
metal into focus was the connection of fire and metals. Who accomplished this is as
unknown as the when and where.

2. CocTaBuTh K TEKCTY 5 BOIIPOCOB Pa3/iMIHbIX TUIIOB.

3.00pa3yiiTe ycJI0BHbIE NPEIT0KECHUSA, YIIOTPEOUB HYKHYIO (hopmy
rJ1aroJi.

1. Fred (come) if he has time.

2 If you (take) a taxi, you'll be in time.

3. If Mark (have) enough money, he will go to the university.
4.  They won't unless you (ask) them to come

5 What remains if you (subtract) 5 from 10?

4 TlepenuiuuTe MpeaioKeHusi B KOCBEHHOI peun, 00paTuTe BHUMAHHE HA
U3MeHeHHe MeCTOMMEeHHM M BUIOBPEMEHHBIX (DOPM IJ1aroJio0B.

1. She said, "I am reading."

She said that

2. They said, "We are busy

They said that

3. He said, "I know a better restaurant.”
He said that

4. She said, "l woke up early

She said that

5. He said, "I will ring her

He said that

5. 3anumure 5 — 6 npeasio:xkenuii Ha Temy «Ilouemy st BLIOpaJ JAHHYIO
npodeccuio?»



Bapuant 16

1. IIpounraiitTe, nepeBeauTe TEKCT MUCBMEHHO.

Metalworking predates history. No one knows with any certainty where or
when metalworking began. The earliest technologies were impermanent to say the
least and were unlikely to leave any evidence for long. The advance that brought
metal into focus was the connection of fire and metals. Who accomplished this is as
unknown as the when and where.

Isaac Asimov speculated that gold was the first metal. His reasoning is that
gold by its chemistry is found in nature. Stone hammer and stone anvil will suffice
for technology. This is the result of gold's properties of malleability and ductility. The
earliest tools were stone, bone, wood, and sinew. They sufficed to work gold.

As time progressed metal objects became more common, and ever more
complex. The need to further acquire and work metals grew in importance. Skills
related to extracting metal ores from the earth began to evolve, and metalsmiths
became more knowledgeable. Metalsmiths became important members of society.

Fates and economies of entire civilizations were greatly affected by the
availability of metals and metalsmiths. Today modern mining practices are more
efficient, but more damaging to the earth and to the workers that are engaged in the
industry. Those that finance the operations are driven by profits per ounce of
extracted precious metals.

2. CocTaBUTH K TEKCTY 5 BOIIPOCOB.

3. IHepenuuure nNpeaJioKeHUs1 B KOCBEHHOMN peyYH.
1. 1. They said, "We have never been here before."

2. They said

3. 2. They said, "We were in London last week."

4, They said

5. 3. He said, "1 will have finished this paper by tomorrow."
6. He said

7. 4. He said, "They Wontsleep

8. He said

9. 5. She said, "It is very quiet here."”

10.  She said

4.PaCKpblTL CKOﬁKH, HCIIOJIB3YA I'J1AaroJ1 B IaCCUBHOM 3aJ10T°¢€.
IIpensoxkenust nepeBecTH.
. Our mother already (give) a present.
. The letter (send) before they arrived.
. His new book (finish) by next year.
. Many houses (burn) during the fire.
. Doctors (give) a new pay rise by the government.
. Usually | (pay) my salary twice a month.

OOk WN PR
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5. 3anummure 5 — 6 npeasio:xkenunii Ha Temy «Ilouemy s1 BLIOpAJI JaHHYI0
npodgeccuro?»



Conepxxanue

BBenenue 3
TpeboBaHue K MPaKTUIECKOMY BJIaJICHUIO BUJIAMHU PEUEBOM JAEATEIHLHOCTU 6
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BapuaHThl KOHTPOJBHBIX paboT 11



